«2) e
1.
(1)
2C+0,=—=2C0
C+0,=—C0,
(2)
N,+0,—2NO

78%N,.21%0,

(3)
4P+50,—=2P,0,

(1)
H,+Cl,—=2HCl

H,+Cl,—=2HCl

(2)
2P+3Cl,—=2PCl,

2P+5C1,=—=2PCl,
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PCl, PCl,
PCl, 8 o
3.
(1)
H,+F,=—=2HF
(2)
N, +3H,=——==—=—0NH,
1.
(1)
A
2Na+0,=—=Na, 0,( )

4Na+0,=—=2Na, O( )

(2)
3Fe+20,——Fe,0,

(3)
A
2Cu+0,=—==2Cu0

2Fe+3Cl,===2FeCl,

(2)

Cu+Cl,==CuCl,
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3.
(1
A
Fe+S FeS
(2)
A
2Cu+S =——=Cu,S

1.
(1)

C0,+H,0 =H,CO0,

(2)

S0,+H,0 =—H, S0,

(3)

S0,+H,0 =—H,S0,

(4)

P,0,+H,0 —=2HPO,( )
(5)

A
P,0,+3H,0 =—=2H,PO,

2.

(1

Na,O+H,0 ===2NaOH

(2) ( )
)

Ca0+H,0 ==Ca( OH) ,

Cu0) . ( ALO,)

3.
(1)
€0,+Ca0 ==CaCO,
(2)
A
=—=—CaS0,

$0,+Ca0

(3)
$i0,+Ca0 ==CaSi0,

(1)
2€0+0,—=2C0,

(2)
2NO+0,—=2NO,

V,0,
250,+0, =250,

6.
(1) .
4NO+30,+2H,0 ——4HNO,

(2) .
4NO,+0,+2H,0 ——4HNO,

(

e 23

( Fe,0,.FeO .
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